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QUESTION 1

Which of the following type of SNMP messages sent to the NM5 is reliable? 

A. Get 

B. GetBulk 

C. Trap 

D. Inform 

E. Response 

Correct Answer: D 

 

QUESTION 2

Regular expressions can be used in Community-filter and AS-Path-filter to filter routes. 

A. TRUE 

B. FALSE 

Correct Answer: A 

 

QUESTION 3

As shown below, the map field, the correct description is A. R1 Level-1 Level-2 LSDB is the same as when 
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B. R1 Ping R21 1oopbapk0 can pass the interface address 

C. R1 R2 1oopback0 10.0.2.2/32 There is a route to arrive 

D. R1.R2 can not establish a relationship between neighbors 

Correct Answer: C 

 

QUESTION 4

The following rules regarding the attributes of the ISIS LSP protocol report are correct. 

A. LSP, LSP, LSDB fast dispersion characteristics expansion will be less than the specified number of out-of-band
expansion 

B. When the LSP is generated and the generated smart controller is generated, the time-varying frequency delay delay
timer can be self-deferred according to the routing information rate. 

C. When the road information increases the chain state, SP and LSP can increase the length of the grammar so that
each can carry more information. 

D. Reduce the minimum interval for sending LSP LSPs on the interface to speed up the diffusion between time. 

Correct Answer: AB 

 

QUESTION 5

The port shaping rate is set to 100 Mbps PIR, and the bandwidth of the service input and configuration of the interface is
as follows. Then the first round of rotation, the assigned team What is the bandwidth? 

A. 30M 

B. 15M 

C. 90M 

D. 25M 

Latest H12-261 Dumps | H12-261 VCE Dumps | H12-261 Practice Test                                3 / 4

https://www.pass4itsure.com/h12-261.html
https://www.pass4itsure.com/h12-261.html
https://www.pass4itsure.com/h12-261.html


https://www.pass4itsure.com/h12-261.html
2024 Latest pass4itsure H12-261 PDF and VCE dumps Download

Correct Answer: B 
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